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Answers

1. 6.32

2. 6.32

3. 11.66

4. 12.04

5. 3.61

6. 12.73

7. 3.16

8. 10.05

9. 3.16

10. 8.06

11. 14.14

12. 7.62

Find the value of 'C' round your answer to the nearest hundredth.

1)

C
6

2

36 + 4 = 40

√40 = 6.32

2)
C

2
6

4 + 36 = 40

√40 = 6.32

3)

C

6

10

36 + 100 = 136

√136 = 11.66

4)

C
8

9

64 + 81 = 145

√145 = 12.04

5)

C3

2

9 + 4 = 13

√13 = 3.61

6)

C

9

9

81 + 81 = 162

√162 = 12.73

7)
C

1
3

1 + 9 = 10

√10 = 3.16

8)

C
10

1

100 + 1 = 101

√101 = 10.05

9)

C

3

1
9 + 1 = 10

√10 = 3.16

10)

C
7

4

49 + 16 = 65

√65 = 8.06

11)

C

10

10

100 + 100 = 200

√200 = 14.14

12)

C

7

3

49 + 9 = 58

√58 = 7.62
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4. 12.04

5. 3.61

6. 12.73

7. 3.16

8. 10.05

9. 3.16

10. 8.06

11. 14.14

12. 7.62

Find the value of 'C' round your answer to the nearest hundredth.

1)

C
6

2

36 + 4 = 40

√40 = 6.32

2)
C

2
6

4 + 36 = 40

√40 = 6.32

3)

C

6
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C
8
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C3

2
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√13 = 3.61

6)

C

9

9

81 + 81 = 162

√162 = 12.73

7)
C

1
3

1 + 9 = 10

√10 = 3.16

8)

C
10

1

100 + 1 = 101

√101 = 10.05

9)

C

3

1
9 + 1 = 10

√10 = 3.16

10)

C
7

4

49 + 16 = 65

√65 = 8.06

11)

C

10

10

100 + 100 = 200
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12)

C

7
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49 + 9 = 58
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Answers

1. 10.2

2. 9.85

3. 9.9

4. 7.81

5. 11.4

6. 5.1

7. 10

8. 4.47

9. 9.06

10. 5.1

11. 2.24

12. 10

Find the value of 'C' round your answer to the nearest hundredth.

1)

C

10

2
100 + 4 = 104

√104 = 10.2

2)

C4

9

16 + 81 = 97

√97 = 9.85

3)

C

7

7

49 + 49 = 98

√98 = 9.9

4)

C

5
6

25 + 36 = 61

√61 = 7.81

5)

C

7
9

49 + 81 = 130

√130 = 11.4

6)
C1

5

1 + 25 = 26

√26 = 5.1

7)

C6

8

36 + 64 = 100

√100 = 10

8)

C4

2

16 + 4 = 20

√20 = 4.47

9)

C

9

1
81 + 1 = 82

√82 = 9.06

10)

C

5

1
25 + 1 = 26

√26 = 5.1

11)

C

2

1

4 + 1 = 5

√5 = 2.24

12)

C

8

6

64 + 36 = 100

√100 = 10
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1. 10.2

2. 9.85

3. 9.9

4. 7.81

5. 11.4

6. 5.1

7. 10

8. 4.47

9. 9.06

10. 5.1

11. 2.24

12. 10

Find the value of 'C' round your answer to the nearest hundredth.

1)

C

10

2
100 + 4 = 104

√104 = 10.2

2)

C4

9

16 + 81 = 97

√97 = 9.85

3)

C

7

7

49 + 49 = 98

√98 = 9.9

4)

C

5
6

25 + 36 = 61

√61 = 7.81

5)

C

7
9

49 + 81 = 130

√130 = 11.4

6)
C1

5

1 + 25 = 26

√26 = 5.1

7)

C6

8

36 + 64 = 100

√100 = 10

8)

C4

2

16 + 4 = 20

√20 = 4.47

9)

C

9

1
81 + 1 = 82

√82 = 9.06

10)

C

5

1
25 + 1 = 26

√26 = 5.1

11)

C

2

1

4 + 1 = 5

√5 = 2.24

12)

C

8

6

64 + 36 = 100

√100 = 10
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Answers

1. 10.63

2. 3.16

3. 7.28

4. 10.63

5. 6.71

6. 7.07

7. 5

8. 10.2

9. 6.08

10. 13.45

11. 11.18

12. 3.16

Find the value of 'C' round your answer to the nearest hundredth.

1)

C
8

7

64 + 49 = 113

√113 = 10.63

2)

C

3

1
9 + 1 = 10

√10 = 3.16

3)

C
7

2

49 + 4 = 53

√53 = 7.28

4)

C7

8

49 + 64 = 113

√113 = 10.63

5)

C6

3

36 + 9 = 45

√45 = 6.71

6)

C

5
5

25 + 25 = 50

√50 = 7.07

7)

C

4

3

16 + 9 = 25

√25 = 5

8)
C

2 10

4 + 100 = 104

√104 = 10.2

9)
C

1
6

1 + 36 = 37

√37 = 6.08

10)

C
9

10

81 + 100 = 181

√181 = 13.45

11)

C10

5

100 + 25 = 125

√125 = 11.18

12)

C1

3

1 + 9 = 10

√10 = 3.16
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1. 10.63

2. 3.16

3. 7.28

4. 10.63

5. 6.71

6. 7.07

7. 5

8. 10.2

9. 6.08

10. 13.45

11. 11.18

12. 3.16

Find the value of 'C' round your answer to the nearest hundredth.

1)

C
8

7

64 + 49 = 113

√113 = 10.63

2)

C

3

1
9 + 1 = 10

√10 = 3.16

3)

C
7

2

49 + 4 = 53

√53 = 7.28

4)

C7

8

49 + 64 = 113

√113 = 10.63

5)

C6

3

36 + 9 = 45

√45 = 6.71

6)

C

5
5

25 + 25 = 50

√50 = 7.07

7)

C

4

3

16 + 9 = 25

√25 = 5

8)
C

2 10

4 + 100 = 104

√104 = 10.2

9)
C

1
6

1 + 36 = 37

√37 = 6.08

10)

C
9

10

81 + 100 = 181

√181 = 13.45

11)

C10

5

100 + 25 = 125

√125 = 11.18

12)

C1

3

1 + 9 = 10

√10 = 3.16
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Answers

1. 8.25

2. 9.22

3. 7.62

4. 10.44

5. 7.07

6. 9.49

7. 12.04

8. 10.82

9. 10.2

10. 6.4

11. 8.94

12. 7.81

Find the value of 'C' round your answer to the nearest hundredth.

1)
C

2
8

4 + 64 = 68

√68 = 8.25

2)

C

9

2
81 + 4 = 85

√85 = 9.22

3)

C7

3

49 + 9 = 58

√58 = 7.62

4)
C

3
10

9 + 100 = 109

√109 = 10.44

5)
C

1 7

1 + 49 = 50

√50 = 7.07

6)
C

3

9

9 + 81 = 90

√90 = 9.49

7)

C
9

8

81 + 64 = 145

√145 = 12.04

8)

C6

9

36 + 81 = 117

√117 = 10.82

9)
C

2
10

4 + 100 = 104

√104 = 10.2

10)

C
5

4

25 + 16 = 41

√41 = 6.4

11)

C

4 8

16 + 64 = 80

√80 = 8.94

12)

C5

6

25 + 36 = 61

√61 = 7.81
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1. 8.25

2. 9.22

3. 7.62

4. 10.44

5. 7.07

6. 9.49

7. 12.04

8. 10.82

9. 10.2

10. 6.4

11. 8.94

12. 7.81

Find the value of 'C' round your answer to the nearest hundredth.

1)
C

2
8

4 + 64 = 68

√68 = 8.25

2)

C

9

2
81 + 4 = 85

√85 = 9.22

3)

C7
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√58 = 7.62
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5)
C

1 7
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6)
C

3

9
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√90 = 9.49

7)

C
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81 + 64 = 145
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8)

C6
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√117 = 10.82

9)
C

2
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10)

C
5
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25 + 16 = 41

√41 = 6.4

11)

C
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Answers

1. 12.04

2. 10.2

3. 7.81

4. 13.45

5. 8.6

6. 8.06

7. 10.05

8. 11.66

9. 6.71

10. 8.54

11. 3.61

12. 7.21

Find the value of 'C' round your answer to the nearest hundredth.

1)

C

8

9

64 + 81 = 145

√145 = 12.04

2)

C

10

2
100 + 4 = 104

√104 = 10.2

3)

C
5

6

25 + 36 = 61

√61 = 7.81

4)

C
10

9

100 + 81 = 181

√181 = 13.45

5)

C7

5

49 + 25 = 74

√74 = 8.6

6)

C
4

7

16 + 49 = 65

√65 = 8.06

7)

C
10

1

100 + 1 = 101

√101 = 10.05

8)

C

10

6

100 + 36 = 136

√136 = 11.66

9)

C3

6

9 + 36 = 45

√45 = 6.71

10)

C
3

8

9 + 64 = 73

√73 = 8.54

11)

C

3

2

9 + 4 = 13

√13 = 3.61

12)

C
6

4

36 + 16 = 52

√52 = 7.21
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1. 12.04

2. 10.2

3. 7.81

4. 13.45

5. 8.6

6. 8.06

7. 10.05

8. 11.66

9. 6.71

10. 8.54

11. 3.61

12. 7.21

Find the value of 'C' round your answer to the nearest hundredth.

1)

C

8

9

64 + 81 = 145

√145 = 12.04

2)

C

10

2
100 + 4 = 104

√104 = 10.2

3)

C
5

6

25 + 36 = 61

√61 = 7.81

4)

C
10

9

100 + 81 = 181

√181 = 13.45

5)

C7

5

49 + 25 = 74

√74 = 8.6

6)

C
4

7

16 + 49 = 65

√65 = 8.06

7)

C
10

1

100 + 1 = 101

√101 = 10.05

8)

C

10

6

100 + 36 = 136

√136 = 11.66

9)

C3

6

9 + 36 = 45

√45 = 6.71

10)

C
3

8

9 + 64 = 73

√73 = 8.54

11)

C

3

2

9 + 4 = 13

√13 = 3.61

12)

C
6

4

36 + 16 = 52

√52 = 7.21
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Answers

1. 7.62

2. 11.18

3. 12.04

4. 6.32

5. 13.45

6. 8.06

7. 11.66

8. 7.81

9. 10.2

10. 7.81

11. 10.77

12. 12.81

Find the value of 'C' round your answer to the nearest hundredth.

1)

C7

3

49 + 9 = 58

√58 = 7.62

2)

C
10

5

100 + 25 = 125

√125 = 11.18

3)

C
8

9

64 + 81 = 145

√145 = 12.04

4)

C
6

2

36 + 4 = 40

√40 = 6.32

5)

C9

10

81 + 100 = 181

√181 = 13.45

6)

C

7

4

49 + 16 = 65

√65 = 8.06

7)

C
6

10

36 + 100 = 136

√136 = 11.66

8)

C
5

6

25 + 36 = 61

√61 = 7.81

9)

C10

2

100 + 4 = 104

√104 = 10.2

10)

C
6

5

36 + 25 = 61

√61 = 7.81

11)

C

4
10

16 + 100 = 116

√116 = 10.77

12)

C
8

10

64 + 100 = 164

√164 = 12.81
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Answers

1. 7.62

2. 11.18

3. 12.04

4. 6.32

5. 13.45

6. 8.06

7. 11.66

8. 7.81

9. 10.2

10. 7.81

11. 10.77

12. 12.81

Find the value of 'C' round your answer to the nearest hundredth.

1)

C7

3

49 + 9 = 58

√58 = 7.62

2)

C
10

5

100 + 25 = 125

√125 = 11.18

3)

C
8

9

64 + 81 = 145

√145 = 12.04

4)

C
6

2

36 + 4 = 40

√40 = 6.32

5)

C9

10

81 + 100 = 181

√181 = 13.45

6)

C

7

4

49 + 16 = 65

√65 = 8.06

7)

C
6

10

36 + 100 = 136

√136 = 11.66

8)

C
5

6

25 + 36 = 61

√61 = 7.81

9)

C10

2

100 + 4 = 104

√104 = 10.2

10)

C
6

5

36 + 25 = 61

√61 = 7.81

11)

C

4
10

16 + 100 = 116

√116 = 10.77

12)

C
8

10

64 + 100 = 164

√164 = 12.81
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Answers

1. 10.3

2. 7.07

3. 8.94

4. 5.39

5. 6.71

6. 11.18

7. 1.41

8. 10.3

9. 4.47

10. 4.12

11. 7.81

12. 6.32

Find the value of 'C' round your answer to the nearest hundredth.

1)

C

9

5

81 + 25 = 106

√106 = 10.3

2)

C

5
5

25 + 25 = 50

√50 = 7.07

3)

C

4
8

16 + 64 = 80

√80 = 8.94

4)

C
2

5

4 + 25 = 29

√29 = 5.39

5)

C

6

3

36 + 9 = 45

√45 = 6.71

6)

C
5

10

25 + 100 = 125

√125 = 11.18

7)

C

1

1

1 + 1 = 2

√2 = 1.41

8)

C

5
9

25 + 81 = 106

√106 = 10.3

9)

C
2

4

4 + 16 = 20

√20 = 4.47

10)

C
1

4

1 + 16 = 17

√17 = 4.12

11)

C

5

6

25 + 36 = 61

√61 = 7.81

12)

C

6

2
36 + 4 = 40

√40 = 6.32
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Answers

1. 10.3

2. 7.07

3. 8.94

4. 5.39

5. 6.71

6. 11.18

7. 1.41

8. 10.3

9. 4.47

10. 4.12

11. 7.81

12. 6.32

Find the value of 'C' round your answer to the nearest hundredth.

1)

C

9

5

81 + 25 = 106

√106 = 10.3

2)

C

5
5

25 + 25 = 50

√50 = 7.07

3)

C

4
8

16 + 64 = 80

√80 = 8.94

4)

C
2

5

4 + 25 = 29

√29 = 5.39

5)

C

6

3

36 + 9 = 45

√45 = 6.71

6)

C
5

10

25 + 100 = 125

√125 = 11.18

7)

C

1

1

1 + 1 = 2

√2 = 1.41

8)

C

5
9

25 + 81 = 106

√106 = 10.3

9)

C
2

4

4 + 16 = 20

√20 = 4.47

10)

C
1

4

1 + 16 = 17

√17 = 4.12

11)

C

5

6

25 + 36 = 61

√61 = 7.81

12)

C

6

2
36 + 4 = 40

√40 = 6.32

1-10 92 83 75 67 58 50 42 33 25 17
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Answers

1. 5.39

2. 6.71

3. 6.4

4. 9.85

5. 12.81

6. 4.47

7. 8.06

8. 13.45

9. 10.63

10. 10.05

11. 11.4

12. 7.62

Find the value of 'C' round your answer to the nearest hundredth.

1)

C

2
5

4 + 25 = 29

√29 = 5.39

2)

C

3 6

9 + 36 = 45

√45 = 6.71

3)

C5

4

25 + 16 = 41

√41 = 6.4

4)

C9

4

81 + 16 = 97

√97 = 9.85

5)

C
8

10

64 + 100 = 164

√164 = 12.81

6)

C

2
4

4 + 16 = 20

√20 = 4.47

7)

C

7

4

49 + 16 = 65

√65 = 8.06

8)

C

9

10

81 + 100 = 181

√181 = 13.45

9)

C

8

7

64 + 49 = 113

√113 = 10.63

10)

C
10

1

100 + 1 = 101

√101 = 10.05

11)

C

9

7

81 + 49 = 130

√130 = 11.4

12)

C
3

7

9 + 49 = 58

√58 = 7.62
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Answers

1. 5.39

2. 6.71

3. 6.4

4. 9.85

5. 12.81

6. 4.47

7. 8.06

8. 13.45

9. 10.63

10. 10.05

11. 11.4

12. 7.62

Find the value of 'C' round your answer to the nearest hundredth.

1)

C

2
5

4 + 25 = 29

√29 = 5.39

2)

C

3 6

9 + 36 = 45

√45 = 6.71

3)

C5

4

25 + 16 = 41

√41 = 6.4

4)

C9

4

81 + 16 = 97

√97 = 9.85

5)

C
8

10

64 + 100 = 164

√164 = 12.81

6)

C

2
4

4 + 16 = 20

√20 = 4.47

7)

C

7

4

49 + 16 = 65

√65 = 8.06

8)

C

9

10

81 + 100 = 181

√181 = 13.45

9)

C

8

7

64 + 49 = 113

√113 = 10.63

10)

C
10

1

100 + 1 = 101

√101 = 10.05

11)

C

9

7

81 + 49 = 130

√130 = 11.4

12)

C
3

7

9 + 49 = 58

√58 = 7.62

1-10 92 83 75 67 58 50 42 33 25 17
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Answers

1. 7.21

2. 4.12

3. 3.61

4. 6.4

5. 8.06

6. 8.06

7. 3.61

8. 7.28

9. 5.66

10. 5.39

11. 11.18

12. 10.44

Find the value of 'C' round your answer to the nearest hundredth.

1)

C
4

6

16 + 36 = 52

√52 = 7.21

2)
C

1 4

1 + 16 = 17

√17 = 4.12

3)

C3

2

9 + 4 = 13

√13 = 3.61

4)

C

4

5

16 + 25 = 41

√41 = 6.4

5)
C

1
8

1 + 64 = 65

√65 = 8.06

6)

C
8

1

64 + 1 = 65

√65 = 8.06

7)

C

2 3

4 + 9 = 13

√13 = 3.61

8)
C

2
7

4 + 49 = 53

√53 = 7.28

9)

C

4

4

16 + 16 = 32

√32 = 5.66

10)

C5

2

25 + 4 = 29

√29 = 5.39

11)

C
10

5

100 + 25 = 125

√125 = 11.18

12)
C

3 10

9 + 100 = 109

√109 = 10.44
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Answers

1. 7.21

2. 4.12

3. 3.61

4. 6.4

5. 8.06

6. 8.06

7. 3.61

8. 7.28

9. 5.66

10. 5.39

11. 11.18

12. 10.44

Find the value of 'C' round your answer to the nearest hundredth.

1)

C
4

6

16 + 36 = 52

√52 = 7.21

2)
C

1 4

1 + 16 = 17

√17 = 4.12

3)

C3

2

9 + 4 = 13

√13 = 3.61

4)

C

4

5

16 + 25 = 41

√41 = 6.4

5)
C

1
8

1 + 64 = 65

√65 = 8.06

6)

C
8

1

64 + 1 = 65

√65 = 8.06

7)

C

2 3

4 + 9 = 13

√13 = 3.61

8)
C

2
7

4 + 49 = 53

√53 = 7.28

9)

C

4

4

16 + 16 = 32

√32 = 5.66

10)

C5

2

25 + 4 = 29

√29 = 5.39

11)

C
10

5

100 + 25 = 125

√125 = 11.18

12)
C

3 10

9 + 100 = 109

√109 = 10.44

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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Answers

1. 10.82

2. 7.21

3. 9.22

4. 8.54

5. 10.05

6. 13.45

7. 5.66

8. 8.94

9. 3.16

10. 8.6

11. 9.22

12. 4.12

Find the value of 'C' round your answer to the nearest hundredth.

1)

C
9

6

81 + 36 = 117

√117 = 10.82

2)

C

4 6

16 + 36 = 52

√52 = 7.21

3)

C
7

6

49 + 36 = 85

√85 = 9.22

4)

C
3

8

9 + 64 = 73

√73 = 8.54

5)
C

1 10

1 + 100 = 101

√101 = 10.05

6)

C9

10

81 + 100 = 181

√181 = 13.45

7)

C
4

4

16 + 16 = 32

√32 = 5.66

8)

C

8

4

64 + 16 = 80

√80 = 8.94

9)

C

3

1
9 + 1 = 10

√10 = 3.16

10)

C5

7

25 + 49 = 74

√74 = 8.6

11)

C
9

2

81 + 4 = 85

√85 = 9.22

12)

C

4

1
16 + 1 = 17

√17 = 4.12
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Answers

1. 10.82

2. 7.21

3. 9.22

4. 8.54

5. 10.05

6. 13.45

7. 5.66

8. 8.94

9. 3.16

10. 8.6

11. 9.22

12. 4.12

Find the value of 'C' round your answer to the nearest hundredth.

1)

C
9

6

81 + 36 = 117

√117 = 10.82

2)

C

4 6

16 + 36 = 52

√52 = 7.21

3)

C
7

6

49 + 36 = 85

√85 = 9.22

4)

C
3

8

9 + 64 = 73

√73 = 8.54

5)
C

1 10

1 + 100 = 101

√101 = 10.05

6)

C9

10

81 + 100 = 181

√181 = 13.45

7)

C
4

4

16 + 16 = 32

√32 = 5.66

8)

C

8

4

64 + 16 = 80

√80 = 8.94

9)

C

3

1
9 + 1 = 10

√10 = 3.16

10)

C5

7

25 + 49 = 74

√74 = 8.6

11)

C
9

2

81 + 4 = 85

√85 = 9.22

12)

C

4

1
16 + 1 = 17

√17 = 4.12

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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